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55.

47.  When the Weaver-bird's nest hangs from a branch above a lake—

(a) The nest is destroyed

(b) The silvery fish of the lake attack it
e silvery fish are friendly to it

(d) The nest falls to the lake

48. In case of a natural calamity, all the animals.
(a) Run helter-skelter

(b) Create confusion
rotect/safeguard one another

(d) Take cover in other's home

49. ‘'Proclaim a law' means
arMake an announcement of a new law
(b) Break the law
(c) Change the law
(d) Destroy the city law

50. The poet prays to God for
(a) Turning the city into a jungle
Making people more sympathetic and understanding
(¢) Killing all animals
(d) Letting animals rule man

SECTION-II: HINDI

51, ‘it wee § ¥ www o e e e BT

ey S+l - (b) SfaRHAT
(c) e+ | &  (d) STIER 3
52, 9 ed WX &1 aifed ¥ S Rewor AT omr &
(a) TeTaTES (b) SEATES .
) \yradate

RMS CLASS 9TH ANSKEY'S Page 8



RMS CLASS 9TH ANSKEYS Page 9



RMS CLASS 9TH ANSKEYS Page 10




(i peen discovered in-
ohenjo-Daro

P P e Qﬂhhﬂ? J} g AL menaitte ;a':-.".;.'- i

RMS CLASS 9TH ANSKEYS Page 11



«#Mohenjo-Daro (d) Kaliparye
(c) Harappa P

ice president of Indg

84. Who is chairman of Rajya Sabha?
(a) Prime minister of India ) None o £ thess
(c) President of India

nts?
85.  Who is the constitutional head of the state governme
(a) Chief minister of the state
(b) High court judge
overnor
(d) Health minister of the state

; his office by the-
86. The President of India can be removed from 's(b) Chiof justics @

(a) Prime minister ‘
(c) Lok Sabha 47 Parliament

87.  The layer of atmosphere which provides ideal condition for flying

is-
(a) Troposphere : P Stratosphere
(c) lonosphere (d) Exosphere

88.  The meaning of word Bantai during medieval period was?
(a) Religion Tax
ystem of calculating revenue
(c) Wealth Tax i
(d) Property Tax

89. The Presidential government operates on the principle of

(a) Division of powers between centre and state
(b) Centralization of Powers

\E;gﬁalanoe of Powers
Separation of Powers

90.  Which one of the following is not coal vari
(a) Bituminous e

(c) Lignite \%g?c:mit '
. e

91 In which of the Ellwln i
e g continents is Tanzania situated?

Gl (b) Asia
YA (d) South America

92. g;'m?; er of Indian Governmen i Presenteq |
(a) U ouse Al )
Lower House e (b) Legislative (

) Legislative 4
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' : will it take
126. A car takes 2 hours to reach a destination by travelling at 60 km/hr. How long '

while travelling at 80 km / hr?
Hr 30 min (b) 1 Hr 40 min

(c) 2 Hr 40 min (d) None of the above

127. Find the single discount equivalent to two successive discounts ofozo% and 10%
(a) 25% (b) 30% e 28% (d) 10%

128. If the difference of squares of two consecutive numbers is 15 and greater of them
is x, then the smaller number is:
@ 16 (b)14 (c) 8 7

129. Which of the parallelograms has all sides equal and diagonals bisect each

other at right angle? : \
(a) rectangle (b) trapezium
(g¥thombus (d) none of these

130. A shopkeeper purchased 2 refngerators for Rs 9800 and Rs 8200 respectively. :
He sold them for Rs 16920. Loss% is 2
’ (a) 2% (b) 4% (c) 5% \(HB6% i

131. The area of a rhombus is 60 cm?, One diagonal is 10 cm. The other diagonal is q '.

(a)6cm (12 cm (c)3cm (d) 24 cm.
132. 503600 is equal to Il :
036 x 10° | | (b) 5.036 x 10
(c) 5.036 x 10* o (d) 5.036 x 107

133. Marked price of an arttcle is 10% mare than the CP. If dlscount of 10% is al

then which of the following is nght?,«
(a) 1% gain ) ,,,f- \_(Jar)/1 % loss

(c) no gain no loss & (d)1.1% loss
; dT. i)
134. The number of outcomes .w,hﬁ'rt{;f:l_d_le is thrownis
(a) 4 (b)2, (c) 1 . B
135. Facfors of xy —ab + xa - yb | R
(= b) (v +1a) i (b) (x-b)(y-a)
() (x+b)(y+a) AT (d(x+b)(y-a)

on for Rs. 1000 and sold it at a gain of 10!
as bought for Rs. 1500. On the transaction,

; (b) loss of Rs. 75 F

(d) loss of Rs. 25

136. Avinash bought an electri
another electric iron at 5% lass Wh ,
(a) profit of Rs. 75 '

Moﬂt of Rs. 25

137.  Which of the followln(gi , brobability of a sure event?
(a) 0 i by

(c) 2 - (d) none of these
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(a) a mangie
(b) a curved line

(21 straight line passing through origin
(d) a straight line not passing through origin.

148. Which of the following points lies on y-axis?
(a) (-4, 0) (b) (4, 0)
@Yéﬁ. —4) (d) (-4, 4)
149. Which of the following lies between 0 and -1?
(a) (b) -3 1
-2/3 (d) 4/3
150. The ages of A and B are in the ratio 5 : 7. Four years from now the ratio of their ages will
be 3 : 4. Then the present age of B is
(a) 20 years .(tﬁye'ars
(c) 15years (d) 21years

SECTION-V: SCIENCE

151.  Which of the following statements is incorrect?
(a) Friction acts on a ball rolling along the ground.
(b) Friction acts on a boat moving on water.
Friction acts on a bicycle moving on a smooth road.
(d) Friction does not act on a ball moving through air.

152. An object is vibrating at 50 hertz. What i's its tlme period?

«(270.02 s
(c)0.2s : »jf (d) 20 0s
: -
153. When electric current is passed tl'!.-'%'-_ h a conducting solution, there is a chq
of colour of the solution. This indicates
T the chemical effect of current.  (b) the heating effect of cufrent.
(c) the magnetic effect ofcurrent (d) the lightning effect of current.

154. Which of the foliowmg nts is correct regarding rods and cones |

human eye?
(a) Cones are sensitive 1 lig (b) Cones are sensitive to brig
(d) Rods can sense colour,

Rods are sensitlve ";_--."

155. Pathogenic micro-org pre ntin host cells are killed by medicin
(a) pain killer (b) antibodies o
\ antibiotics

(d) vaccines

a
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in given f
183. A brick is kept in three different ways on a table as shown N 9

pressure exerted by the brick on the table will be

A

B

5

A
Maximum in position A (b) Maximu
\'ggMaximum in position C (d) Equal in all cases

m in position B

184. A pendulurﬁ oscillates 20 times in 4 seconds. Find its time period.
(a)0.065 sec (b) 0.001 sec
«)Lg.z sec _ (d) 0.1 sec

185. If two plane mirrors are inclined at an angle of 40°, number of ima

be .
(@)7 (b) 8 ()9 (d) 5.
ngles to each other..

186. Two mirrors A and B are placed at right a :
h : ror B after reflectic

incident on mirror A at an angle of 25° falls on mir
reflection for the ray reflected from mirror B would be

(a) 25° JET50° (c) 65°
187. A spring balance is used for measuring
(@) Mass b Weight (c) Pressure

188. When the hammer strikes the gong of an electric bell, which of the
is responsible for the movement of hammer?

(a) Gravitational'force-alone i magnetic force ai_(f:_ng’-"
(c) Electrostatic force alone (d) Frictional force alone

-

189. Name the type of mirror used as a back view, mirror

(a) plane mir[c:r convex mirror
(c) convex mirror 3 - (d) any of these
190.  which of the following is not a luminous object
faigun: (b) candle
f moon A% (d) tube light

161, Make-a kaleidoscope we require
(é}f-:h ree p:;ng mfn-grs (b) four plane mirrors -;
¢) three glass sheets (d) four glass sheets

192. When electrodes a
formed on the negative termin
oxygen

(c) hydrogen
193. The voice box is also called 2

g))ﬁg:outh
arynx
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